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Factor, Factor, Factor

Factor the greatest common factor from each term in the expression.

9x* - 12x
32x*yz® + 48x°yz

Factor by grouping.

x3+4x%- 3x- 12
x3+3x° + xX+3

x3- 3x?+2x- 6
2x% - 8x+3xy- 12y
x*- bx- ax+ab

Factor. If apolynomia cannot be factored, state “Not factorable’.

x* - 64

9x*- 25

100x? - 81y?

x3- 27 RECALL: (a®-Db*) =(a—b)(a*+a+b?)
x*+8 RECALL: (a® +b®) =(a+Db)(a’- ab+b?)
x> +5x+6

x*- 13x +36

x> +5x- 24

x?- 17x- 60

x*- 8x-15

x> +9x+14

x*- 18x +80

. X?+14x- 24

x* - 3x+11*
x?- 2x- 99
x* +9x+14
x*- 8x+7
x*+2x- 35
x*- 12x+ 35
x*- 6x- 16

Factor. If apolynomia cannot be factored, state “Not factorable’.
x3 +8x? +16x
3x* +6x- 24



7x? - 42x+35
. 2X* +11x+5
5x° - 2x+3
6x° + 28x - 10
8x? - 8xy- 6Yy?
. 9x*+6x- 8
14x* +19x- 3
15x% - 19x- 10
35x° +34x +8
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Solutions

1. a 3x(3x-4)
. 16x°yz(2z%+ 3X)
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2. a (x*-3)(x+4)
. (X2+D(x +3)
. (x=3)(x*+2)

. (X =4)(2x + 3y)
e X=-b)(x—-4a)
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a (x—8)(x+28)

. (3x=5)(3x +5)

. (10x —9y)(10x + 9y)
d. (x-=3)(x?+3x+9)
e (X+2)(x*-2x+4)
f. x+2)(x+3)

g X-4)(x-9)

h. (x —3)(x + 8)

i. (x+3)(x-20)

j. Not factorable.

k. X+7)(x+2)

l. (x—10)(x—8)

m. Not factorable.

n. Not factorable.

0. (x—11)(x +9)

p. (x+7)(x+2)

0. x=1)(x-7)

r. Xx=5x+7)

S (X=5(Xx-=7)

t. (x=8)(x+2)
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4. a x(x+4)°

b. 3(x—2)(x + 4)
c. 7(x—1)(x =5)
d. (2x+1)(x+5)
e 5x-3)(x-1)
f. 2(3x —1)(x +5)
0. 2(2x +y)(2x —3y)
h. (3x —2)(3x + 4)
i. (7x=1)(2x +3)
j. (5x+2)(3x —5)
k. (7x +4)(5x + 2)



